
ANSWERS – VOLUME 1: EQUILIBRIUM 
Chapter 5, Calculating Support Reactions and Interaction Forces problem 5.12, page 193 
 

Last update: 27-04-07 

Remarks:      See §5.1, page 154 till 162 
And the examples 3 on page 157  
 
Answers:  
 
1.  follows from horizontal equilibrium,  follows from moment 
equilibrium about , and so on.. 

(a)N (c)N
abS

 (a) 40 10 kNN = −  
  (b) 60 kNN = +
  (c) 20 kNN = +
 
2.  follows from moment equilibrium about (a)N bcS ,  follows from 
horizontal equilibrium, and so on.. 

(a) 60 kNN = −

(b)N

  
 (b) 40 10 kNN = −  
  (c) 140 kNN = +
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